S\Projecto\Crown Casile\B6959_B76782_Poriluond Warren Ave\TOW MOD\B6952.001.01_Portland Warren Ave B78752 TOW MOD.dwg — Sheet:S3 - User: Twiliams — Warch 4, 2013 — 3:52 Pw

“

——}

NOTES:
1. ALL STRUCTURAL BOLTS SHALL BE INSTALLED AND TIGHTENED TO THE FRE-TENSIONED CONDITION ACCORDING

REQUIREMENTS OF THE AISC 'SPECIFICATION FOR STRUCTURAL JOINTS USING HIGH—STRENGTH BOLTS', DEC. 31, 2009.
2. ALL STRUCTURAL BOLTS SHALL BE INSPECTED ACCORDING TO THE REQUIREMENTS OF THE AISC 'SPECIFICATION FOR

STRUCTURAL JOINTS USING HIGH—STRENGTH BOLTS', DEC. 31, 2009,

3. ALL AJAX M20 BOLTS WITH SHEAR SLEEVES SHALL BE PRE—TENSIONED AND TISHTENED UNTIL THE DIRECT TENSION

INDICATOR (DTI) WASHERS SHOW THAT THE PROPER BOLT TENSION HAS BEEN REACHED. SEE NOTES AND DETAIL
FOR THE USE OF DIRECT TENSION ENDICATOR (DTI) WASHERS WITH THE AJAX M20 BOLTS,

4, ALL AJAX BOLTS SHALL BE INSTALLED USING DIRECT TENSION INDICATORS (DTI'S) AND HARDENED WASHERS. DTI'S
SHALL BE THE SQUIRTER® STYLE, MADE TO ASTM F958 LATEST REVISION; AND HARDENED WASHERS SHALL CONFORM TO

ASTM F436 AND HAVE A HARDNESS OF RC 38 OF HIGHER,

TO THE

BELOW

'ONE—SIDE' BOLTS WITi C :

DI’S REQUIRED: DTI'S SHALL BE "SELF—INDICATING” SQUIRTER® STYLE DTI'S MADE WITH SILICONE EMBEDDED IN THEM, INSPECTED BY MEANS OF THE VISUAL EJECTION OF SILICONE AS THE DTI

PROTRUSIONS COMPRESS., SQUIRTER® DTI'S SHALL BE CALIBRATED PER MANUFACTURES'S INSTRUCTIONS PRIOP TO USE.
THE DIRECT TENSION INDICATOR (DTI) WASHERS SHALL BE THE "SQUIRTER® STYLE" AS MANUFACTURED BY:

APPLIED BOLTING TECHNOLOGY PRODUCTS, INC.
1413 ROCKINGHAM ROAD

BELLOWS FALLS, VERMONT 05101, USA

PHONE 1-800—-552-1898

WEBSITE: WWW.APPLIEDBOLTING.COM

DISTRIBUTORS OF SQUIRTER® DTI'S:
HTTP:/ /WWW.APPLIEDBOLTING.COM/APPLIED--BOLTING—DISTRUBUTORS. HTML

DT USE DIRECT TEMSION INDICATOR (DTI) WASHERS COMPATIBLE WITH 3/4" NOMINAL A325 BOLTS FOR THE AJAX M20 BOLTS. DTI'S SHALL NOT BE HOT-DIP GALVANIZED. DTI'S SHALL BE

MECHANICALLY GALVANIZED (MG) BY THE COLD MECHANICAL PROCESS ONLY AS PROVIDED BY THE DTI MANUFACTURER.

HARDENFD WASHERS. REQUIRED: USE A HARDENED WASHER FOR A 3/4° NOMINAL BOLT BETWEEN THE TOP OF THE DIRECT TENSION INDICATOR (DTI) WASHER AND THE NUT OF THE AJAX M20 BOLT.
FARDENED WASHERS SHALL CONFORM TO ASTM F438 AND HAVE A MINIMUM HARDNESS OF RE 38 OR HIGHER. THE HARDENED WASHERS SHALL BE MECHANICALLY GALVANIZED BY THE COLD
MECHANICAL PROCESS. ALTERNATIVELY, CORRECTLY MADE HOT DIP GALVANIZED HARDENED FLAT WASHERS HAVING A MINIMUM HARDNESS OF RC 38 CAN BE USED; CONTRACTOR SHALL PROVIDE

DOCUMENTATION OF WASHER SPECIFICATION AND HARDNESS.

TQUIRED: PROFERLY LUBRICATE THE THREADS OF THE NUT OF THE AJAX BOLT SO THAT IT CAN BE PROPERLY TIGHTEMED WITHOUT GALLING AND/OR LOCKING UP ON THE BOLT

NUT LUBRICATION REQUIRED:
THREADS, CONTRACTOR SHALL FOLLOW DTl MANUFACTURER INSTRUCTIONS FOR PROPER LUBRICATION AND FIGHTENING.

NOTE: COMPLETELY COMPRESSED DTI'S SHOWING NO VISIBLE REMAINING GAP ARE ACCEPTABLE. DTl WASHERS SHALL BE PLACED DIRECTLY AGAINST THE OUTER AJAX WASHER WITH THE DTl BUMPS
FACING AWAY FROM THE AJAX WASHER. PLACE A HARDENED WASHER BETWEEM THE DTI AND AJAX NUT. THE DTl BUMPS SHALL BEAR AGAINST THE UNDERSIDE OF A HARDEMED FLAT WASHER, NEVER

DIRECTLY AGAINST THE NUT.

CONTRACTOR SHALL FOLLOW DT) MANUFACTURES'S INSTRUCTIONS FOR INSTALLATICN, LUBRICATION, TIGHTENING AND INSPECTION.

INSPECTION REQUIRED: ALL AJAX BOLTS SHALL BE INSPECTED ACCORDING TO THE REQUIREMENTS OF THE AISC "SPECIFICATION FOR STRUCTURAL JOINTS USING HIGH-STRENGTH BOLTS’, DEC. 32, 2008,
BY A QUALIFIED BOLT INSPECTOR. DURING INSTALLATION, THE BOLT INSPECTOR SHALL VERIFY AND DOCUMENT| THE SHOP—DRILLED AND FIELD-DRILLED HOE SIZES; THE INSTALLATION OF THE AJAX
BOLT ASSEMBLY, INCLUDING THE SHEAR SLEEVE PLACEMENT AND NUT LUBRICATION AND THE CONTRACTOR'S TENSIONING PROCEDURE. IN ADDITION, ALL AJAX BOLTS AND DTI'S SHALL BE VISUALLY
INSPECTED ACCORDING TO THE DTI MANUFACTURER'S INSTRUCTIONS. THE BOLT INSPECTOR SHALL PROVIDE COMPLETE PHOTO DOCUMENTATION OF ALL BOLTS AFTER TIGHTENING CLEARLY SHOWING THE

CONDITION OF THE OTl's.

[INTERIOR OF POLE SHAFT | EXTERIOR OF POLE SHAFT

SHAFT REINFORCING ELEMENT

GENERAL NOTES

1.1 ALL WORK SHALL COMPLY WITH THE TiA-222~G STANDARD AS
WELL AS ANY OTHER GOVERNING BUILDING CODES,

1.2 FiELD WORK WILL BE DONE AROUND EXISTING COAXIAL CABLE
AND EGUIPMENT. ALL WORK SHALL BE DONE IN A MANNER SUCH
THAT NO DAMAGE OCCURS TO THE EXISTING EQUIPMENT CR
THE STRUCTURE.

1.3 A MINIMUM OF TWO COATS OF ZINGA COLD GALVANIZING COMPOUND
{OR APPROVED EQUIVALENT) SHALL BE APPLIED TO ANY FIELD CUTS
OR FIELD DRILLED HOLES.

1.4 THE USE OF A GAS TORCH OR WELDER WILL NOT BE PERMITTED
ON THE TOWER WITHOUT THE CONSENT OF THE OWNER,

1.5 IN LIEU OF TEMPORARY BRACING CONTRACTOR MAY HAVE A STABILITY
ANALYS!S PERFORMED BY AN ENGINEER LICENSED IN THE STATE THE
TOWER IS LOCATED. THE ANALYSIS SHALL USE A MINIMUM WIND
SPEED OF 45 mph (3—SEC) PER TiA-1019,

FABRICATION

2.1 ALL WORK SHALL BE DONE IN ACCORDANCE WITH AlS.C.
"SPECIFICATIONS FOR THE DESIGN, FABRICATION AND ERECTION
OF STRUCTURAL STEEL FOR BUILDINGS.

2.2 STRUCTURAL STEEL SHALL MEET THE FOLLOWING SPECIFICATIONS:

XELD
A. STEEL SHAPES AND PLATES, U.N.C. 66ksi AS72

2.3 ALL NEW MATERIAL INCLUDING STRUCTURAL STEEL AND FASTENERS
SHALL BE HOT DIPPED GALVANIZED AFTER FABRICATION IN
ACCORDANCE WITH ASTM A123 AND A153.

2.4 WELDING SHALL MEET ANSI/AWS D1.1 STRUCTURAL WELDING CODE
{LATEST REVISION). ELECTRODES SHALL BE E80 SERIES.

2.5 CONTRACTOR SHALL PROVIDE SHOP FABRICATION DRAWINGS TO
B+T GROUP 2 WEEKS PRIOR TO FABRICATION.

4

B+T GRP

1717 8. BOULDER
SLITE 300

TULSA, OK 74119
PH: (918) 5B7-4630
www,bigmp.com

CROWN
CASTLE

ISSUED FOR: )

DATE | DESCRIPTION

D3/04/13fISSUED FOR CONSTRUCTION{

KEY NOTES

() TOWER MODIFICATION LD,

.\

[ PROJEGT NO:

86959.001.01

PROJECT ENG: KIRAN MARQJU
DRAWN BY; UUJ/ TEW
CHECKED BY: 85C/S8V |
—

B+T ENGINEERING, ‘I% ]
2

R

4, {f,f/

POLE SHAFT WALL
_\ SHOP DRILL HOLE IN SHAFT REINFORCING ELEMENT, HOT
FIELD DRILL HOLE IN SHAFT WALL; DIP GALVANIZED PER ASTM A123; FIELD COAT WiTH ZRC
COAT WITH ZRC ZINC COLD-GALVANIZING COMPOUND; ZING COLD—GALVANIZING COMPOUND AFTER FIELD DRILLING; -,
HOLE DIAMETER; MOMINAL 30mm (1 3/16" MAX.) HOLE DIAMETER; MOMINAL 30mm (1 3/16" MAX.) %,
— DIRECT TENSION INDICATOR {DTl) "SQUIRTER®" STYLFE; ASTM ” K
_ FoE8 MANUFACTURED BY APPLIED BOLTING TECHNOLOGY AT
\\ / PRODUCTS, INC. COLD MECHANICALLY GALVANIZED IT (5 A VOLKTIGH OF LAW FOR ARY PERSH,
/_ UNLESS THEY ARE ACTING UNDER THE DIRECTION
[ OF A LICENSED PROFESSIONAL ENGINEER, TO
1, \ MACHINED END OF AJAX BOLT L ALTER THIS DOCUMENT. )
FOR AJAX INSTALLATIOIN TOOL -
PORTLAND WARREN AVE
AJAX W20 BOLT — 878782
HEAD: 29 mm OD T AJAX M20 EOLT
, JM (NOMINAL 20mm OD) {68 WARREN AVE,
= F AJAY, NUT (LUBRICATE THREADS, '
SHEAR SIEEVE (Fu=120KS| MIN): AJAX SPLIT WASHER NV \_ REFER TO NOTES) EXISTING 180' MONOPOLE
SIZE: 29mm OD x 20mm ID HARDENED FLAT WASHER ASTM F436;
LENGTH = NOMINAL (GRIP—6mm) = (GRIP-0.25") {TOL. -0", +1/32) MINIMUM HARDNESS RC 38; SHEET TITLE
SLEEVES SHALL BE ROUND, WITH ENDS CUT SQUARE AND DEBURRED. co GENERAL NOTES,
NOTE: COMPRESSIBLE GASKET MATERIAL SUCH AS AJAX BOLT NOTES
NEOPRENE OR SILICONE CAULKING SHALL BE SHEAR AIAX WASHER AND DETAILS ]
INSTALLED IN THIS GAP TO ENSURE THE SHEAR PLANE —
SLEEVE REMAINS SEATED TOWARD POLE SHAFT GRIP ™ SHEET NUMBER: REVISION: |
] TYPICAL AJAX BOLT DETAIL S 3 0
i SCALE: N.T.S.
—? )




